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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3239 ±Constant = 2.993 

 0.7539 ±Mean     = 136.2 

 0.5326 ±Sigma    =  8.53 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3239 ±Constant = 2.993 

 0.7539 ±Mean     = 136.2 

 0.5326 ±Sigma    =  8.53 

Vt50 (mV)80 90 100 110 120 130 140 150 160 170

n
(C

h
an

n
el

s)

0

1

2

3

4

5

6

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3459 ±Constant = 3.183 

 0.7063 ±Mean     =   128 

 0.4994 ±Sigma    =  7.96 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3459 ±Constant = 3.183 

 0.7063 ±Mean     =   128 

 0.4994 ±Sigma    =  7.96 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3238 ±Constant =  2.98 
 0.7544 ±Mean     = 127.3 

 0.5335 ±Sigma    = 8.502 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3238 ±Constant =  2.98 
 0.7544 ±Mean     = 127.3 

 0.5335 ±Sigma    = 8.502 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3784 ±Constant = 3.482 

 0.6456 ±Mean     = 131.5 
 0.4565 ±Sigma    = 7.276 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3784 ±Constant = 3.482 

 0.6456 ±Mean     = 131.5 
 0.4565 ±Sigma    = 7.276 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3736 ±Constant = 3.438 

 0.6539 ±Mean     = 126.5 
 0.4623 ±Sigma    = 7.369 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3736 ±Constant = 3.438 

 0.6539 ±Mean     = 126.5 
 0.4623 ±Sigma    = 7.369 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3335 ±Constant = 3.068 

 0.7326 ±Mean     =   128 
 0.518 ±Sigma    = 8.256 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3335 ±Constant = 3.068 

 0.7326 ±Mean     =   128 
 0.518 ±Sigma    = 8.256 

Gain (mV/fC)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0

5

10

15

20

25

Chip 0 Gain at 2.00fC Nent = 128    

 2.526 ±Constant = 23.34 
 0.0967 ±Mean     =  59.3 
 0.06838 ±Sigma    = 1.094 

Chip 0 Gain at 2.00fC Nent = 128    

 2.526 ±Constant = 23.34 
 0.0967 ±Mean     =  59.3 
 0.06838 ±Sigma    = 1.094 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.425 ±Constant = 22.31 
 0.1008 ±Mean     = 56.46 
 0.07125 ±Sigma    = 1.136 

Chip 1 Gain at 2.00fC Nent = 128    

 2.425 ±Constant = 22.31 
 0.1008 ±Mean     = 56.46 
 0.07125 ±Sigma    = 1.136 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.312 ±Constant = 21.28 
 0.1057 ±Mean     = 55.32 
 0.07471 ±Sigma    = 1.191 

Chip 2 Gain at 2.00fC Nent = 128    

 2.312 ±Constant = 21.28 
 0.1057 ±Mean     = 55.32 
 0.07471 ±Sigma    = 1.191 
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Chip 3 Gain at 2.00fC Nent = 128    

  2.12 ±Constant =  19.5 
 0.1153 ±Mean     = 58.03 

 0.08151 ±Sigma    = 1.299 

Chip 3 Gain at 2.00fC Nent = 128    
  2.12 ±Constant =  19.5 
 0.1153 ±Mean     = 58.03 

 0.08151 ±Sigma    = 1.299 
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 2.429 ±Constant = 22.44 
 0.1006 ±Mean     = 55.95 

 0.07111 ±Sigma    = 1.138 

Chip 4 Gain at 2.00fC Nent = 128    
 2.429 ±Constant = 22.44 

 0.1006 ±Mean     = 55.95 

 0.07111 ±Sigma    = 1.138 
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Chip 5 Gain at 2.00fC Nent = 128    

  2.11 ±Constant = 19.42 
 0.1158 ±Mean     =  59.2 

 0.08187 ±Sigma    = 1.305 

Chip 5 Gain at 2.00fC Nent = 128    
  2.11 ±Constant = 19.42 

 0.1158 ±Mean     =  59.2 

 0.08187 ±Sigma    = 1.305 
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Chip 0 Extrapolated Offset Nent = 128    
 1.059 ±Constant = 9.785 

 0.738 ±Mean     = 17.11 
 0.5218 ±Sigma    =  8.35 

Chip 0 Extrapolated Offset Nent = 128    
 1.059 ±Constant = 9.785 

 0.738 ±Mean     = 17.11 
 0.5218 ±Sigma    =  8.35 
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Chip 1 Extrapolated Offset Nent = 128    
   1.1 ±Constant = 10.16 

 0.7105 ±Mean     = 14.32 
 0.5024 ±Sigma    = 8.038 

Chip 1 Extrapolated Offset Nent = 128    
   1.1 ±Constant = 10.16 

 0.7105 ±Mean     = 14.32 
 0.5024 ±Sigma    = 8.038 
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Chip 2 Extrapolated Offset Nent = 128    
 1.048 ±Constant = 9.678 

 0.7462 ±Mean     = 16.84 
 0.5276 ±Sigma    = 8.442 

Chip 2 Extrapolated Offset Nent = 128    
 1.048 ±Constant = 9.678 

 0.7462 ±Mean     = 16.84 
 0.5276 ±Sigma    = 8.442 
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Chip 3 Extrapolated Offset Nent = 128    

 1.253 ±Constant = 11.57 
 0.6239 ±Mean     =  14.9 
 0.4411 ±Sigma    = 7.059 

Chip 3 Extrapolated Offset Nent = 128    

 1.253 ±Constant = 11.57 
 0.6239 ±Mean     =  14.9 
 0.4411 ±Sigma    = 7.059 

-60 -40 -20 0 20 40 60 80

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

16

18

Chip 4 Extrapolated Offset Nent = 128    

 1.229 ±Constant = 11.31 
 0.6362 ±Mean     = 14.54 
 0.4498 ±Sigma    = 7.169 

Chip 4 Extrapolated Offset Nent = 128    

 1.229 ±Constant = 11.31 
 0.6362 ±Mean     = 14.54 
 0.4498 ±Sigma    = 7.169 
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Chip 5 Extrapolated Offset Nent = 128    

 1.197 ±Constant = 11.01 
 0.6531 ±Mean     = 8.645 
 0.4618 ±Sigma    =  7.36 

Chip 5 Extrapolated Offset Nent = 128    

 1.197 ±Constant = 11.01 
 0.6531 ±Mean     = 8.645 
 0.4618 ±Sigma    =  7.36 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 5.736 ±Constant = 52.99 

 2.839 ±Mean     =  1395 

 2.008 ±Sigma    = 32.12 

Chip 0 Input Noise at 2.00fC Nent = 128    
 5.736 ±Constant = 52.99 

 2.839 ±Mean     =  1395 

 2.008 ±Sigma    = 32.12 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 6.245 ±Constant = 57.46 

 2.608 ±Mean     =  1428 

 1.844 ±Sigma    = 29.39 

Chip 1 Input Noise at 2.00fC Nent = 128    
 6.245 ±Constant = 57.46 

 2.608 ±Mean     =  1428 

 1.844 ±Sigma    = 29.39 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 5.232 ±Constant = 48.14 

 3.113 ±Mean     =  1490 

 2.201 ±Sigma    = 35.08 

Chip 2 Input Noise at 2.00fC Nent = 128    
 5.232 ±Constant = 48.14 

 3.113 ±Mean     =  1490 

 2.201 ±Sigma    = 35.08 
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Chip 3 Input Noise at 2.00fC Nent = 128    

  5.55 ±Constant = 51.07 
 2.934 ±Mean     =  1416 
 2.075 ±Sigma    = 33.07 

Chip 3 Input Noise at 2.00fC Nent = 128    

  5.55 ±Constant = 51.07 
 2.934 ±Mean     =  1416 
 2.075 ±Sigma    = 33.07 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 5.814 ±Constant = 53.71 
 2.801 ±Mean     =  1448 
 1.981 ±Sigma    = 31.69 

Chip 4 Input Noise at 2.00fC Nent = 128    

 5.814 ±Constant = 53.71 
 2.801 ±Mean     =  1448 
 1.981 ±Sigma    = 31.69 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 4.911 ±Constant = 45.37 
 3.316 ±Mean     =  1312 
 2.345 ±Sigma    = 37.52 

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.911 ±Constant = 45.37 
 3.316 ±Mean     =  1312 
 2.345 ±Sigma    = 37.52 
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Channel Number0 100 200 300 400 500 600 700

V
t5

0 
(m

V

0

50

100

150

200

250
Vt50 at 2.00fC Nent = 767    Vt50 at 2.00fC Nent = 767    

Channel Number0 100 200 300 400 500 600 700

G
ai

n
 (

m
V

/f
C

)

30

35

40

45

50

55

60

65

70

75

80
Gain at 2.00fC Nent = 767    Gain at 2.00fC Nent = 767    

Channel Number0 100 200 300 400 500 600 700

E
xt

ra
p

o
la

te
d

 O
ff

se
t 

(m
V

)

0

20

40

60

80

100

120

140

Extrapolated Offset Nent = 767    Extrapolated Offset Nent = 767    

Channel Number0 100 200 300 400 500 600 700

In
p

u
t 

N
o

is
e 

(E
N

C
)

500

1000

1500

2000

2500

3000

Input Noise at 2.00fC Nent = 767    Input Noise at 2.00fC Nent = 767    
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3104 ±Constant = 2.867 

 0.7871 ±Mean     = 131.5 

 0.5565 ±Sigma    = 8.905 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3104 ±Constant = 2.867 

 0.7871 ±Mean     = 131.5 

 0.5565 ±Sigma    = 8.905 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3708 ±Constant = 3.411 

 0.6589 ±Mean     = 127.7 

 0.4659 ±Sigma    = 7.426 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3708 ±Constant = 3.411 

 0.6589 ±Mean     = 127.7 

 0.4659 ±Sigma    = 7.426 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.2836 ±Constant =  2.62 
 0.8614 ±Mean     = 128.9 

 0.6091 ±Sigma    = 9.746 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.2836 ±Constant =  2.62 
 0.8614 ±Mean     = 128.9 

 0.6091 ±Sigma    = 9.746 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3519 ±Constant = 3.238 

 0.6943 ±Mean     = 130.1 
 0.4909 ±Sigma    = 7.824 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3519 ±Constant = 3.238 

 0.6943 ±Mean     = 130.1 
 0.4909 ±Sigma    = 7.824 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3286 ±Constant = 3.024 

 0.7434 ±Mean     =   132 
 0.5256 ±Sigma    = 8.378 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3286 ±Constant = 3.024 

 0.7434 ±Mean     =   132 
 0.5256 ±Sigma    = 8.378 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3589 ±Constant = 3.317 

 0.6804 ±Mean     = 127.4 
 0.4808 ±Sigma    = 7.698 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3589 ±Constant = 3.317 

 0.6804 ±Mean     = 127.4 
 0.4808 ±Sigma    = 7.698 
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 1.632 ±Constant = 15.08 
 0.1497 ±Mean     = 59.34 
 0.1058 ±Sigma    = 1.693 
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 1.632 ±Constant = 15.08 
 0.1497 ±Mean     = 59.34 
 0.1058 ±Sigma    = 1.693 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.031 ±Constant = 18.77 
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 1.698 ±Constant = 15.63 
 0.1439 ±Mean     = 56.47 
 0.1017 ±Sigma    = 1.621 
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 1.919 ±Constant = 17.66 

 0.1273 ±Mean     = 57.53 

 0.09001 ±Sigma    = 1.435 
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 1.964 ±Constant = 18.08 

 0.1244 ±Mean     = 61.14 

 0.08793 ±Sigma    = 1.402 
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 2.385 ±Constant = 22.03 

 0.1024 ±Mean     =  56.7 

 0.07243 ±Sigma    = 1.159 
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 1.197 ±Constant = 11.06 

 0.6531 ±Mean     = 12.25 
 0.4618 ±Sigma    = 7.389 

Chip 0 Extrapolated Offset Nent = 128    
 1.197 ±Constant = 11.06 

 0.6531 ±Mean     = 12.25 
 0.4618 ±Sigma    = 7.389 

-60 -40 -20 0 20 40 60 80

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

16

18

Chip 1 Extrapolated Offset Nent = 128    
 1.241 ±Constant = 11.41 
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  1.03 ±Constant = 9.516 

 0.7589 ±Mean     = 16.57 
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 1.292 ±Constant = 11.93 
 0.6051 ±Mean     = 15.22 
 0.4278 ±Sigma    = 6.846 
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 1.209 ±Constant = 11.12 
 0.6467 ±Mean     =  9.26 
 0.4572 ±Sigma    = 7.287 
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 1.269 ±Constant = 11.73 
 0.6159 ±Mean     = 14.76 
 0.4355 ±Sigma    = 6.968 

Chip 5 Extrapolated Offset Nent = 128    

 1.269 ±Constant = 11.73 
 0.6159 ±Mean     = 14.76 
 0.4355 ±Sigma    = 6.968 
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 4.269 ±Constant = 39.28 

 3.815 ±Mean     =  1343 

 2.698 ±Sigma    = 42.99 
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 4.269 ±Constant = 39.28 

 3.815 ±Mean     =  1343 

 2.698 ±Sigma    = 42.99 
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  4.16 ±Constant = 38.43 

 3.915 ±Mean     =  1396 

 2.768 ±Sigma    = 44.29 
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 2.768 ±Sigma    = 44.29 
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 3.657 ±Constant = 33.78 

 4.453 ±Mean     =  1491 

 3.149 ±Sigma    = 50.38 
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 3.657 ±Constant = 33.78 

 4.453 ±Mean     =  1491 

 3.149 ±Sigma    = 50.38 
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 4.654 ±Constant = 42.83 
 3.499 ±Mean     =  1467 
 2.474 ±Sigma    = 39.43 
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 4.654 ±Constant = 42.83 
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 2.474 ±Sigma    = 39.43 
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 5.815 ±Constant = 53.51 
 2.801 ±Mean     =  1351 
  1.98 ±Sigma    = 31.56 
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 5.815 ±Constant = 53.51 
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  1.98 ±Sigma    = 31.56 
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 4.752 ±Constant =  43.9 
 3.427 ±Mean     =  1414 
 2.423 ±Sigma    = 38.78 
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 4.752 ±Constant =  43.9 
 3.427 ±Mean     =  1414 
 2.423 ±Sigma    = 38.78 
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